

			Vendor Ranking			Page 1 of 1
Letting:	04181005	October 05, 2018 10:30 AM	Call Order: 002	Contract:	E4T25-R0	
District:	District 4		Counties: BROWARD	Fed Aid No	: N/A	
Contract Time:	365 CALENI	DAR DAYS		Project(s):	42429557201 (*)	
Contract Decay						

Contract Desc: BROWARD CO PRIMARY TREE TRIMMING - ROUTINE MAINTENANCE

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SUNRISE SECURITY AGENCY AND MAINTENANCE, INC.	Responsive	Winning bid	\$58,753.00	100.00%
2	INNOVATIVE ENVIRONMENTAL SERVICES, INC.	Responsive	Non-Winning Bid	\$134,489.00	228.91%
3	ROYAL REGIONS INCORPORATION	Responsive	Non-Winning Bid	\$140,780.80	239.61%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$154,779.00	263.44%
5	HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES LLC	Non Responsive	Non-Winning Bid	\$198,224.40	337.39%
6	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$257,295.00	437.93%
7	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$277,905.60	473.01%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	10/23/18	BEGIN TIME:	10:30 AM
	END DATE:	10/25/18	END TIME:	10:30 AM



#### 10/05/2018

#### **Tabulation of Bids** Page 1 of 8 04181005 Letting: Contract: E4T25-R0 October 05, 2018 Call Order: 002 District: District 4 Fed Aid No: N/A Counties: BROWARD Contract Time: 365 CALENDAR DAYS Project(s): 42429557201 (\*) Contract Descr: BROWARD CO PRIMARY TREE TRIMMING - ROUTINE MAINTENANCE The work under this Contract consists of tree-trimming, pruning, removal, clearing-and-grubbing, and sodding along the State Roadway System in Broward County. MAXIMUM LIMITING: The award amount and contract performance bond shall be based on the budgeted amount of \$200,000,00 and not the contractors bid total. BUSINESS DEVELOPMENT INITIATIVE (BDI) CONTRACT - Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at http://www.fdot.gov/egualopportunityoffice/bdi.shtm. For more information about bidding on BDI projects, please see the training guide located at http://www.cmdpbgp.com/bdiprojects.html Pregualification per Rule 14-22 is not required. Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: http://www.fdot.gov/contracts/forms/forms.shtm It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us. All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is pregualified in the project's major work type, per Rule 14-22, Florida Administrative Code. Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the AASHTOWARE Project Bids application. BDI Reference Sheet may be found at:http://www.fdot.gov/egualopportunityoffice/bdi.shtm. Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09). The contract performance bond has been waived on this contract Line No / Item ID (1) SUNRISE SECURITY (2) INNOVATIVE (3) ROYAL REGIONS Alternate Quantity AGENCY AND MAINTENANCE. ENVIRONMENTAL SERVICES. INCORPORATION Item Description Units

() indicates item is bid as Lump Sum INC. Unit Price Ext Amount Unit Price Ext Amount Unit Price Ext Amount



Page 2 of 8

Letting: 04181005 (	October 05, 20	18 <b>Call</b>	<b>Order:</b> 002		Contract:	E4T25-R0	
Line No / Item ID Alternate	Quantity Units	(1) SUNRISE S		(2) INNO ENVIRONMENT		(3) ROYAL INCORPO	REGIONS
() indicates item is bid as Lump Sum	onno	INC Unit Price	Ext Amount	INC Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		IG AND REMOVAL	(MH)				
0005 0120 6 EMBANKMENT	10.000 CY	45.00000	450.00	30.00000	300.00	40.00000	400.00
0010 E110 2 CLEARING & GRUBBING	10.000 AC	300.00000	3,000.00	1,000.00000	10,000.00	2,750.00000	27,500.00
0015 E575 1 SODDING	7,500.000 SY	2.00000	15,000.00	1.00000	7,500.00	3.50000	26,250.00
0020 E580332 21 TREE REMOVAL (4" TO 12")	200.000 EA	35.00000	7,000.00	100.00000	20,000.00	35.00000	7,000.00
0025 E580332 22 TREE REMOVAL (13" TO 24")	100.000 EA	37.00000	3,700.00	100.00000	10,000.00	75.00000	7,500.00
0030 E580332 23 TREE REMOVAL (25" TO 36")	50.000 EA	125.00000	6,250.00	50.00000	2,500.00	140.00000	7,000.00
0035 E580332 99 TREE AND BRUSH REMOVAL	5.000 AC	285.00000	1,425.00	1,000.00000	5,000.00	395.00000	1,975.00
0040 E580336 PRUNING AND TRIMMING (LESS TH 4")	30.000 HAN EA	45.00000	1,350.00	1.00000	30.00	40.00000	1,200.00
0045 E580336 1 PRUNING AND TRIMMING (4" TO 24	700.000 I") EA	10.00000	7,000.00	100.00000	70,000.00	50.00000	35,000.00



Page 3 of 8

Letting:	04181005	October 05, 20	18 <b>Ca</b> l	I Order: 002		Contract:	E4T25-R0	
Line No / Item Item Descripti		e Quantity Units	(1) SUNRISE AGENCY AND N	IAINTENANCE,	(2) INNO ENVIRONMENT	AL SERVICES.		REGIONS
-	is bid as Lump Sum		Unit Price	C. Ext Amount	Unit Price	C. Ext Amount	Unit Price	Ext Amount
SECTIC	N: 0001	TREE TRIMMIN	IG AND REMOVA	L (MH)				
0050 E580336 PRUNING AND TH		58.000 EA	10.00000	580.00	20.00000	1,160.00	120.00000	6,960.00
0055 E580336 PRUNING AND TE SHRUBS)	-	79,980.000 AND SF	0.10000	7,998.00	0.05000	3,999.00	0.21000	16,795.80
0060 E580336 PRUNING AND TI		200.000 ) EA	25.00000	5,000.00	20.00000	4,000.00	16.00000	3,200.00
	RIMMING AND S REMOVAL (MH)	Section Totals:		\$58,753.00		\$134,489.00		\$140,780.80
	Contract G	rand Totals:		\$58,753.00		\$134,489.00		140,780.80



Page 4 of 8

Letting: 04181005 O	ctober 05, 2018	3 Cal	l Order: 002		Contract:	E4T25-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) T & M LA SERVIC		(5) HIGHSTYLE & CONSTRUCTI	ON SERVICES		IRONMENTAL, IC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTION: 0001 T		AND REMOVA	L (MH)				
0005 0120 6 EMBANKMENT	10.000 CY	30.00000	300.00	30.00000	300.00	1,000.00000	10,000.00
0010 E110 2 CLEARING & GRUBBING	10.000 AC	4,000.00000	40,000.00	1,500.00000	15,000.00	7,000.00000	70,000.00
0015 E575 1 SODDING	7,500.000 SY	4.00000	30,000.00	4.50000	33,750.00	5.00000	37,500.00
0020 E580332 21 TREE REMOVAL (4" TO 12")	200.000 EA	100.00000	20,000.00	95.00000	19,000.00	50.00000	10,000.00
0025 E580332 22 TREE REMOVAL (13" TO 24")	100.000 EA	100.00000	10,000.00	99.00000	9,900.00	100.00000	10,000.00
0030 E580332 23 TREE REMOVAL (25" TO 36")	50.000 EA	76.00000	3,800.00	75.00000	3,750.00	250.00000	12,500.00
0035 E580332 99 TREE AND BRUSH REMOVAL	5.000 AC	950.00000	4,750.00	890.00000	4,450.00	7,000.00000	35,000.00
0040 E580336 PRUNING AND TRIMMING (LESS THA 4")	30.000 N EA	1.00000	30.00	45.00000	1,350.00	50.00000	1,500.00
0045 E580336 1 PRUNING AND TRIMMING (4" TO 24")	700.000 EA	50.00000	35,000.00	49.00000	34,300.00	50.00000	35,000.00



Page 5 of 8

Letting:	04181005	October 05, 201	8 Cal	l Order: 002		Contract:	E4T25-R0	
Line No / Item Item Descripti		e Quantity Units	(4) T & M LAV SERVIC		(5) HIGHSTYLE & CONSTRUCTI	ON SERVICES		/IRONMENTAL, NC.
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	TREE TRIMMING	G AND REMOVAL	_ (MH)				
0050 E580336 PRUNING AND T		58.000 EA	50.00000	2,900.00	49.00000	2,842.00	100.00000	5,800.00
0055 E580336 PRUNING AND TI SHRUBS)	5 RIMMING (TREES	79,980.000 AND SF	0.05000	3,999.00	0.88000	70,382.40	0.25000	19,995.00
0060 E580336 PRUNING AND TI	14 RIMMING (PALMS	200.000 ) EA	20.00000	4,000.00	16.00000	3,200.00	50.00000	10,000.00
	FRIMMING AND S REMOVAL (MH)	ection Totals:		\$154,779.00		\$198,224.40		\$257,295.00
	Contract G	rand Totals:		\$154,779.00		\$198,224.40		257,295.00



#### 10/05/2018

### Tabulation of Bids

Page 6 of 8

Letting: 04181005 Oct	ober 05, 20	18 Call C	Order: 002		Contract:	E4T25-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(7) ROGAR MANA CONSULTING OF					
( ) indicates item is bid as Lump Sum		Unit Price E	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 TR		IG AND REMOVAL (	MH)				
0005 0120 6 EMBANKMENT	10.000 CY	64.00000	640.00				
0010 E110 2 CLEARING & GRUBBING	10.000 AC	3,160.00000	31,600.00				
0015 E575 1 SODDING	7,500.000 SY	4.61000	34,575.00				
0020 E580332 21 TREE REMOVAL (4" TO 12")	200.000 EA	100.00000	20,000.00				
0025 E580332 22 TREE REMOVAL (13" TO 24")	100.000 EA	125.00000	12,500.00				
0030 E580332 23 TREE REMOVAL (25" TO 36")	50.000 EA	175.00000	8,750.00				
0035 E580332 99 TREE AND BRUSH REMOVAL	5.000 AC	3,160.00000	15,800.00				
0040 E580336 PRUNING AND TRIMMING (LESS THAN 4")	30.000 I EA	200.00000	6,000.00				
0045 E580336 1 PRUNING AND TRIMMING (4" TO 24")	700.000 EA	125.00000	87,500.00				



Page 7 of 8

Letting:	04181005	October 05, 20	18 <b>Call</b>	<b>Order:</b> 002		Contract:	E4T25-R0	
Line No / Item Item Descript		e Quantity Units	(7) ROGAR MAN CONSULTING	OF FLORIDA				
() indicates iten	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	TREE TRIMMIN	IG AND REMOVAL	. (MH)				
0050 E580330 PRUNING AND T		58.000 EA	175.00000	10,150.00				
0055 E580336 PRUNING AND T SHRUBS)	5 RIMMING (TREES	79,980.000 AND SF	0.47000	37,590.60				
0060 E580336 PRUNING AND T	14 RIMMING (PALMS	200.000 ) EA	64.00000	12,800.00				
	FRIMMING AND S REMOVAL (MH)	Section Totals:		\$277,905.60		·		

**Contract Grand Totals:** 

\$277,905.60



Tabulation of Bids							
Letting:	04181005	October 05, 2018	Call Order: 002	Contract:	E4T25-R0		
		120.57(3), Floi required by lav	to file a protest within the time pres rida Statutes, or failure to post the k v within the time allowed for filing a preedings under chapter 120, Floric	bond or other security bond shall constitute			